SN BEXAD
B sENSAHY (BN
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
A X & 13,469,573 11,769,644 1,699,929
= 28,556
= 141,450
= 13,299,567
HESHAL (™ XS ) 7,710,672 6,255,717 1,454,955
ol 2AH Y| 7,528,712 6,079,553 1,449,159
Ol A4 H| 7,528,712 6,079,553 1,449,159
101 @1 21| 865,059 808,257 56,802
01 2 507,392 506,592 800
OANZAZ RS HH=Z(25H) 25,822
- 53 11,002& x 1 x10A| 2+ x12& 1,321
— 62 9,383& *8H x10A| 2tx 128 9,008
73 8,476 *11H x10A| 2tx 128 11,189
— 82 7,609& x2H *10A| 2tx12& 1,827
-9 6,878 *3H x10A| 2tx12& 2,477
Oxlh224 8,476& x25H x25A| 2t x 12& 63,570
Ogo g &= 80,000,000& »5H 400,000
OCANWNF = 18,000
— WG 550,000& x2H x12& 13,200
— W EXAH| 200,000 x2H x12& 4,800
02 JIEHE B4 3,615 3,112 503
OA%H (243 ,19) 3,615
—ANAA2RLY(FUER)
8,604& x1H «10A| 2t*x12& 1,033
—x2U22Le 8,604 1P x25A| 2tx 128 2,582
03 I Hs22 XNHE 5 354,052 298,553 55,499
g & 2 40,000,000& *3H 120,000
Oo=00dz 22 2,181,951,000€& %4 .5% 98,188
olnssggs 8¢2 3,821, 158,000& *1.4% 53,497
ONtEezs 83 82,367
—AIREX S(35Y) 645,234, 0003 * 1% 6,453
— 0182 (39¢) 1,536,717 ,000& 4 .94% 75,914
203 @R =&H| 78,755 79,175 AN420
01 J|22H L RE=XH| 52,800 52,800 0
OJl&2dd2F&8Y| 52,800
02 3NN FFAH| 21,755 22,115 A 360
OFJAINNMAR =Y
(80,0002 «100&H )+(60,000& 200 )+ (45,000 21,755
2A%39H )
04 ENSHLRE=XH| 4,200 4,260 A B0
ORAEE gRF=&AY| 350,000& x12& 4,200
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M HHSHAH (HENAD)

Sel: o2y (B9 ®R)
- _ _ RE]

S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
303 ZA 2 1,239,578 1,239,578 0
02 8tM0H 2 1,239,578 1,239,578 0

Odau2 14,874,931,000& *1/12 1,239,578
04 HA=z2d=2S 5,257,820 3,865,043 1,392,777
NEELEE 4,160,145 2,868,292 1,291,853
od=age=2 32,585,379,000& *7% 2,280,977
osda 2¢32 32,585,379,000& *2.337% 761,521
OMall24a 2= 32,585,379,000& *0.081% 26,395
O x4d 22 32,585,379,000 x3.3489% 1,091,252
02 2o1AHAdEE 2 1,097,675 996,751 100,924
O=Z0AHLAEEHN 2 NXSHHEES
35,524,019,000& *2.90% 1,030,197
O YEE= 1,030, 197,000& *6..55% 67,478
307 2Iz2t0| A 87,500 87,500 0]
07 A2 =23 87,500 87,500 0
2xZod s 87,500
— A2 X oI = 67,500
— M3 20,000

| 2 &l 181,960 176,164 5,796

Jl2 &4l 181,960 176,164 5,796
201 £Bt24d| 133,790 129,574 4,216
01 AP 22| H| 131,021 126,949 4,072

Ogets==2H| =M H A 23,811
o2gds4 78,900
— G 78,900
oAl 60,000& *3H 115 20,700
=X (5Y) 60,000 x3H x115& 20,700
=2 (EY) 50,000 »3H 250! 37,500
o2 & dl 26,910
— 2 2H SHAH A 25,160
— S&22 A XAl 7,000 1«14 %250 1,750
O, =498 stz =8 (852 HZ)
100, 000& 7l A= 23] 1,400
02 E2=2=24%H| 2,769 2,625 144
o9 = 4l 2,769
— ZEAEA e Az
1,384 %14 »8A|2tx150 1,661
—0IFHSE AIR4 48 A=
1,384 %14 »8A|2t*100 1,108
202 044 48,170 44 590 3,580
01 2404l 48,170 44,590 3,580
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O=2Wod (2LH) 32,150
O=2UWod (&2) 16,020
HdH L XSYHE A2 4,736,670 4,613,845 122,825
= 24,808
&< 71,826
= 4,640,036
SHAY XA A2 615,839 737,346 A 121,507
SEsHo XA 22 173,969 280,736 N 106,767
101 e1214| 43,329 40,863 2,466
04 JI2ZtHIZ22 NEES 43,329 40,863 2,466
OSBMESIHEUER) 43,329
—SMSIHEHSE) HHMZ22
40,4003 x 152 x65 39,390
—4Eg = 39,390, 000& x10% 3,939
201 et d| 28,020 28,502 N 482
01 AR 22l ] 11,785 13,285 A 1,500
Ogers gl 1,785
— AN HE 9,385
— XN MoMEs +HHE
3,000 x8008 « 13l 2,400
02 222 4| 11,035 9,717 1,318
O HZH 22 MEEZEE (2B =sE) 8,335
— 2 &I M (50,000& &)
38,890 1130 & € 4,395
— 2 &I M (30,000 &)
24,0203 x 16401 & < 3,940
ORAHIANAEY SXESH (AL, SH)
150, 000& 18I & 2,700
03 A2 I 5,200 5,500 A 300
O224 g XA 4,500
— 220 HX 200,000 x10H 2,000
— ARSI (B =2 =8 O S)
1,000,000 13| 1,000
—JIE AR H = 150,000 x 10 1,500
OZ£2 ZoWol st 700
—CA(EE )82 29| 700
202 04| 11,000 11,000 0
01 2Ll 11,000 11,000 0
OAMAL =& 60,000 x5 «2 3] 600
OdHd =g 10,400
— 22| Xt 200,000 x22 %203 8,000
— o s 60,000 x2H x203] 2,400
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203 R =&t 2,500 2,500 0
03 AIBF=XH S =ZH| 2,500 2,500 0
OdAtztel & 08 YRFA S 2,500
307 21201 A 39,120 39,120 0
05 RIZt2IEt = 39,120 39,120 0
Ogx2L(LAAH)SY
130,000 x 18 &~ *12& 28,080
Oxzu22 XN2elA)| 84
40,000 #2301 A+ 122 11,040
309 HES 50,000 158, 191 A 108,191
03 BRAH= = 50,000 158, 191 A 108,191
O=s83 50,000
A=A 254,800 254,800 0
201 Let249y 40,000 40,000 0
01 At 2t 2 40,000 40,000 0
Ouss HI(Z) 40,000
202 O4dl 214,800 214,800 0
01 = LH 4 1l 28,800 28,800 0
OXEHLLE N 60,000 6% 802 28,800
05 SR WO 186,000 186,000 0
OXRUR(EY & EHAE)
60,0003 *30H «30 54,000
ONSDR(NYBLADNZH)
60,000 *60H «30 108,000
OsdnEd8uE 6,000,000& x4H 24,000
UEgd g4dst 85,300 102,800 A 17,500
201 ¢er24l 10,000 7,000 3,000
01 At 22l 5,000 2,000 3,000
OXNMZH & NREAFA 5,000
—WREH BOAM HMXE 2 43
2,000& 4008 800
-9 2 JIEW HNE 100,000& x4 3] 400
— 42X AFEHIE 200,000& 42 800
— NHEAl 22X JIE8& HX
15,000& 200X 3,000
03 &Ar2 I 5,000 5,000 0
OoXtofz2d g8 5,000
202 4Hl 4,320 4,320 0
01 = LH A HI 4,320 4,320 0
OXXIEHHI 2t 3] of & A 60,0003 *3H 82 1,440
OAl - ZHHE 3 &4 60,000 *3H 83| 1,440
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SN #EXAD
MM MY L XA A2fF2F

ol MEXX oA CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O N 35,000
OJIgM 983 MU Me2#EE 24 XA
50,000& x250H 12,500
ONYsM stH| XI& 100, 000& *30H 3,000
Oz &Y dg &= AA 100, 000& *20H 2,000
OMY MO =0IAM K& 4,4003 =400 Al CH 1,760
= 0o & A 7,300 53,300 AN 46,000
201 Bt A | 7,300 3,300 4,000
01 AP 22l Yl 5,000 1,000 4,000
OZole < #AIZELR Z &b 5,000
03 S AIS H H| 2,300 2,300 0
OZaol d At 2,300
— 209 A AHMZ 200,000& *3H 600
— e SHA MIHH = 200,000& =14 200
-3 ¥ AWH=E 100, 000& x5 500
- & H=X 500& *2,0000H 1,000
SR FEM=EXNSE L & 435 1,374,456 1,387,113 N 12,657
NSRRI =X 200,056 190,613 9,443
101 @121l 17,721 17,721 0
04 JI2ZtH 22 XNEE % 17,721 17,721 0
ogz2ta 29 53,7003 25 x12& 16,110
od4=EgE= 16,110,000& *10% 1,611
201 et A | 153,319 143,876 9,443
01 AFR22t2l Yl 91,444 95,664 N4, 220
Oget=gH| 74,134
—HEE Y EEIH S ME 14,200
HEE 6,000& *2000H 1,200
ZAIH, 321 100, 000& =104 1,000
ZHSS A EEIY 100, 000& * 1204 12,000
—B=22100t2201)+7¢ 8,200
El =D 4,000& *6000H 2,400
-2 D 10,0003 48004 4,800
£ D 10,000& * 100 0H 1,000
— A% A2 A 2ZB ZHHE PY
15,000& * 1004 1,500
—HAE 29 6,000
9o SHes(sa4+2 108)
300,000& *123] 3,600
- MNEREEE2 103 200,000& *123] 2,400
— gAY 44 234
g2r2 X7 28,214
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SN BETAD
HE: o0 U NYHY L5
X |

ool ZRE SMSTEA ¥ XX 243 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
 BHAFT] (80p) 15,165
3 BH AT (100p) 62,1503 6«12 4,475
x B AT (180p) 119,070& »6H «12& 8,574
LAAZERY(ODLAEHIL 78) 16,020
oggz JIsas 29 15,630
—SANEEE 3¢ 72¥
35,000 #28F A x294! 1t A 2,030
—SNE2E BEALT 2L
50,000 #28F A =154 Dt A 1,500
— Anti-virus 2ZEH 0 7
12,100,000& 14 12,100
Oz & i 1,680
—HAY E2 7,000 x2H « 104 x 128 1,680
02 2324l 61,875 48,212 13,663
Oz22= & HAl 41,760
— &2 ANE 2, 2EE EAFHI(HEH])
4,000,000& =13l 4,000
— &Y AME, 22 93bI(H3lHl)
3,000,000& =13l 3,000
—RER= 34,160
ot H 2703 150 250 10,125
SJIRUE(BtEs XE)
2,000& x40 250 20,000
2 A 2203 x 128 250 660
EN L 2,2503 6= +2502 3,375
— 28X MY ¥ SEEEE
600,000 »10H 600
Ozt ZHI S 4,500
—QIMI HOR2E wE & £
800,000& *33l 2,400
—HEI #HZ 2 M =&  700,000& 33 2,100
O4AdgstE XHEH 4,357 ,000& = 1CH 4,357
OA&EHl Sl 11,258
—HEJE2AUAMAEY RAEF= Y
187,620, 0003 *6% 11,258
202 odl 7,016 7,016 0
01 = LH o4 1l 7,016 7,016 0
OEHEFA 60,0003 1 15 900
O=dHIN SRFA 60,0003 1 20 1,200
OHAQUAARFZ(HIMA)
60,000 «1H »202 1,200
O2MAMSHEI(EE) 38,7003 «8 122 3,716
203 YR =] 22,000 22,000 0
03 A=A H I =AH| 22,000 22,000 0




2N

MM H Y LR Az
Sl BN SM=XNSH Y XE 245 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFR 2892 =4 = 22,000
SR FHETX 1,174,400 1,190,000 A 15,600
201 Let24d] 1,046,000 1,000,000 46,000
01 At 22l 1,026,000 1,000,000 26,000
OXEH=ENME ZOE 0IEUHS3
1,200,000& x760H 912,000
OXA FHEX A2Z&H 300,000 «380H 114,000
03 A2 Z Hl 20,000 0 20,000
Odetds SXNADI S2U3 20,000
303 Z& 3 128,400 172,000 A 43,600
01 243 128,400 172,000 243,600
O&A Al ZZHI 48,000
—DHIRR 500,000 *40H »23] 40,000
—EIZHESRE 2,000,000& »x4H 8,000
OJIEtZ &= 62,400
— 23N RESESFEEZLY 200,000& 60H 12,000
— 299 YR BR42Y
120,000 x36H «12& 50,400
oA FM=sUsa &t NE (=, &)
60,000& *20Z 61 2 & 7,200
OF0IZSgUs A 2Ot NE(BHSE)
60,000& »180H 10,800
HEFBSE Se dXNLEHR FE 1,279,197 1,109,444 169,753
= 24,808
< 71,826
[ia 1,182,563
HFHEL3 SSIIE 7= 65,735 72,750 AT7,015
= 19,528
[ia 46,207
201 et 65,735 72,750 AT,015
= 19,528
e 46,207
01 At 22l 65,735 72,750 AT,015
OANZF MoH=E7HMH 2=(LX) 15,672
2 3,544
fia 12,128
OAN=Z7 HEZFBAAY SEFHU LM (LX) 50,063
= 15,984
[ia 34,079
NSELS F=&A 2,640 2,640 0
301 et d = 1,440 1,440 0
10 HALAHIEA 2 1,440 1,440 0
OZE0IE FUNE L M AL 24
60,0003 x4 52 1,200

- 212 -




SM: BIXED
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ool BHIPIE S MNNYFE P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 24 oyl WAANEUS &L 24
60,0003 x4 12 240
303 Z&3 1,200 1,200 0
01 243 1,200 1,200 0
O3 FEXNAQ e =41 Z&3 1,200
—3®= 300,000& »2H 600
- = 200,000 »2H 400
-& o 100,000& »2H 200
dE3s J|gtats 530,633 533,625 A 2,992
201 Letd] 242,702 139,832 102,870
01 At 22l 86,010 36,200 49,810
Oget=8H| 4,250
— TN RPIAALEE 1,000
—HEEE OOH #HgHolzE 2 2,650
—ZESHUE INUFEESHH S22
600& =1,0000H 600
OddEgeEs 278 +¢ 81,760
—SNEL(82) 120,000& 5074 6,000
— A A (A A 250,000 = 1854 46,250
— CHEZ(CAD,SH®) 1,310,000 =114 14,410
—LdEX(LF,00IXNHE S)
31,0002 10074 3,100
— BiOlef Au Al 20,000& 60074 12,000
02 2324l 156,692 103,632 53,060
Oz22= & HA 6,780
—Z230ts 23R
200, 0003 *2J4 A 122 4,800
— SHO0IX A4HAE =2 55000&+12& 660
— EHO0X Eole == 110,000 128 1,320
OA&EHl s Xl 149,912
—HHEESHY RAUE+
509,877, 700& *6% 30,593
—HIZESHUY B0 FNE=>
132,937,700 *6% 7,977
— S HOI X A 70,000,000 *6% 4,200
—JIESMH 234,260,000 *6% 14,056
—HXNZHAMH 134,352,000 *8% 10,749
—g&= SHOIX 67,210,000 *8% 5,377
—&2350ts SHO0IX 32,089, 000& *8% 2,568
—dUZM Z2 0 90,652,840& x10% 9,066
—HoleHolAs 2208 66,000,000 *8% 5,280
—HHIRPE MAMTH(2E AEL,SH)
632,376,000 x7% 44,267
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SN BENAD
)élﬂ: /Sj.l E_(I XlUF@HX‘l O:lak%l-i
+

ool BHIPIE S MNNYFE P CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
— FUHEB0|IS4 MAEH  95,085,230& *5% 4,755
— FHAA 20 &Y 51,334,000 x5% 2,567
—PCIHQI B EE S AIAE!
38,800,000 *8%*1/2 1,552
—ANAEE2H L2 AFAIAE
38,800,000 *8%x*1/2 1,552
—MS8EHAMNM SAES% 4.410,000& *8% 353
—dHHIBY SHAFAAMH (2H,SH ALL)
500,000 * 100 A~ 5,000
202 044l 1,800 1,800 0
01 2L Y| 1,800 1,800 0
OHFAEES e & A3s A
60,000 x23 10 1,200
OoYS APAE L SADS B
60,000 x2H x5! 600
207 I & d| 3,000 136,000 A 133,000
02 & AJH 2| 3,000 136,000 A 133,000
OsSEgd22MA T2 FII7¢
1,500,000 x2A! 3,000
403 XX SRS K20| & 63, 131 59, 941 3,190
02 2II2S0CHeCH& AFS I 63, 131 59, 941 3,190
OANZF HEEFBAIAE SR B 63, 131
405 XHA&HF S HI 220,000 196,052 23,948
01 XAt 2 FF S| 220,000 196,052 23,948
O™ EARY RA(EEH,2LIH)
1,200, 000& x100CH 120,000
OXSHMEL A 2SotAH Wi
100,000, 000& * 14! 100,000
HEs0ts2el ANSEAY 32,918 32,918 0
= 5,280
= 11,076
= 16,562
307 212t0| ™ 32,918 32,918 0
= 5,280
=} 11,076
= 16,562
02 QI2tAAME X 32,918 32,918 0
OXES0IS ZE2 )82 SHAIY 16,459
— T2 22X 1,270,000 12« 122 x90% 13,716
= 5,280
o= 4,218
= 4,218
— 402 & g&22 2,743
OXB 308 ZE2)82ULK SAAY 16,459
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#HEXE D

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— T2 A 1,270,000 *1H =122 90% 13,716
< 6,858
i 6,858
-4 28 2 EAHS 2,743
HEZHESHNY 2F 22 469,771 467,511 2,260
201 LB-2%| 454,271 432,511 21,760
01 At 22l 1,000 1,000 0
Oget=gHl 1,000
—Fasloa AT M= 500,000 13l 500
— N3 SE HZES EEUE M
100,000& *32l 300
~ DY POMA 24 AQE3
200,000& =13l 200
02 =224l 453,271 431,511 21,760
o332 & HA 407,511
— YdBtEE AEZ 10,050, 000& =122 120,600
—dHIFHS MER 11,300,000& =128 135,600
—dAEE SE€Y MEZ  9,070,000& 122 108,840
— METHol & ALE = 425,250 x12& 5,103
~EHOXNE 204 5142
1,350,000 128 16,200
—FUFB0/E4H 2HY &2
495,000 x12& 5,940
—|dgs A2 69,000 12 828
—EANESE AER 1,200,000 »12& 14,400
OAE ZHI S X 45,760
—dste @ FH (eI S)
200,000, 000& *6% 12,000
— E-32t SHBIOAIAE 236,000,000 *6% 14,160
— Qe FBAE 220,000,000 x6% 13,200
— 2SS AIAE 40,000,000 *6% 2,400
— AL SH SAsH 0l &l
500,000 *40H 2~ 2,000
—S% A A &5 OOIHS & HHl
500,000 *40H 2~ 2,000
401 Al HI & 2 08I 5,500 25,000 A 19,500
01 A& Hl 5,500 25,000 A 19,500
OZ&sloa Se&dl #= 3,000,000 1A 3,000
ODUAFEANE BB AHBIE ,HOIE)
500,000& *5IH £ 2,500
405 XH&kE S| 10,000 10,000 0
01 AL EZFH S 10,000 10,000 0
OHFHRE M3t)| +¢ 40,000 =504 2,000
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Og4a4=sE 2elAH 4,000, 0003 =14 4,000
OHZALE BA(FAX) 7 300,000& »5CH 1,500
OMIL SHY AXFY 2
2,500,000 = 1CH 2,500
dEometa=x 37,500 0 37,500
< 18,750
s 18,750
402 RI2FX=201 A 37,500 0 37,500
< 18,750
s 18,750
01 2I2tRE2E X 37,500 0 37,500
OsHEXNS 2UHAINYNY A=
3,750,000& * 104 A& 37,500
= 18,750
fia 18,750
IYRATEAIE WA 140,000 0 140,000
< 42,000
s 98,000
ANEHI &2 140,000 0 140,000
< 42,000
s 98,000
01 A& HI 140,000 0 140,000
OLF QLAZEAE WHAY 140,000
< 42,000
[ia 98,000
dAzel X 72,808 29,572 43,236
SELANER =& 72,808 29,572 43,236
308 XXM S0l 72,808 0 72,808
08 JIEt=2E 3 72,808 0 72,808
OHN6sl MISAXNLHAN 2L 3 72,808
Ol BHE AR 1,077,610 1,092,810 A 15,200
Ol gt& 2tel 1,077,610 1,092,810 A 15,200
301 L2 LS 1,004,610 1,019,610 A 15,000
02 Hetz Ltttz 2,000 2,000 0
OO0l XY &st=s 2,000
052 -tdassgas 1,002,610 1,002,610 0
Oool&E=¢ 200,000& x292H 123 700,800
O0lE&M=z 200, 0003 x292H »23| 116,800
OO0l&E3lo 4T 20,0003 *292H 23| x12& 140,160
Ot 25,000 897 H *23| 44,850
307 21201 A 73,000 73,000 0
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